
斜頂滑座 KPHF RCPHF SLIDER SERIES
[简体]

D W Wa F t G A a T

8 24 12 25 6 13
20

7.5
16

10 28 14 32
7

17 8.5

12 31 17 40 20 25 10 20

16 36 21
45

7.5
24

30 13 24

20 43 28 40 17 30

25 48 33 50 26 45 22 35

30 55 38 60 8.5 30 50 27 38

35 64 44 70 10 34 55 31 40

40 72 50 80 11 38 60 36 34

Code D g f B b e 安裝螺絲 S.H.C.S

KPHF

8
6.5

5 10 5
3

M4x10

10 4 12 6 M5x12

12 8.5 5 13 7 4 M6x14

16 10 6 16 9

6

M8x20

20 13 8 20 11 M10x25

25 14 9.5

25 14 M12x3030
15

9

35 10
8

40 16 11.5 32 18 M16x35

D W Wa F t G A a T

10 26 14 28
6

17 20 8.5 16

12 29 17 36
20

25 10 20

16 33 20
40 6.5

30 13 24

20 38 25 24 40 17 30

25 45 30 45
7.5

26 45 22 35

30 51 36 55 30 50 27 38

35 58 42
70

8 34 55 31 40

40 66 48 9 38 60 36 43

Code D g f B d e 安裝螺絲 S.H.C.S

RCPHF

10 6.5 3 10 6 3 M5x12

12 8 5 12 7 4 M6x14

16 10 6 16 9

6

M8x20

20 13 7 20 11 M10x25

25 14 9.5

25 14 M12x3030
15

9

35 10
8

40 16 11.5 32 18 M16x35

javascript:StranBody()
javascript:StranBody()
javascript:StranBody()

